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Attempt five questions in all including Q

No. 1 (Section-A) whicl

Max. Marks: S0

1 is compulsory

(1”\1 .\(‘[&'g'HH‘L' t”]tul.\l Iwo questions cach ”‘“’” ‘\'(_‘.“-””_1; £ C ._“n_ ’”i.\'\”"‘: or

misprinted data may be assumed suitably

Ry

Section-A

Describe general purposes registers in $083 microprocessor.

Draw and explatn the timing diazram of MVI B, 04H.

What do you mean by RISC and CISC?

What are the purposes of troubleshootng?

Justify the basic requirement of programmable interval counter and interrupt.

Section-I

Discuss the various addressing mode in 8083 microprocessor with suitable
examples.

Write an assembly level program to caleulate the sum of series of odd
numbers from the list of numbers,

Write an assembly level program to sort given 8 numbrs in the ascending

order.
Draw *Read *and *Write' cycle timing diagram of 8085.

How does a microprocessor differentiate signal between address and data?

Explain.

4l
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Sub. COdc: 6779

(2)

Seefion-C

: ; do e <hould be Joaded in register DE to
Caleulate the value of the 16:bit pusiber that <oy 225 nsec. Doss the

: custerm clock period 18
obtain the loop delay of 150 mace if the systeni clack p

\ o wwele?
T oatates for N7, in structure in last cycle’
vithue change i it caleulated witl seven T-atales for JNZ. i str J

LXI D, COUNI 10

LOOP: DCX D (il
MOV A, I 41
ORATD 41

INZ 1OOP 101

Explain the various type of interrupt of 8085 and ilustrate the various part of 8259
programmable interrapt controller,

Draw the block diagram of 8255 ppy. Lxpl

ain the cach bits of 8255 control word with
suitable example,

-y TV,

Iy
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